A £ 0l & AF & S

Al A

20238 =0ila eI E3t0l=
M 20l
ZM: 2HTA X4
tel: Sti=gs X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
230l 27,182,169 40,117,358 A12,935,189
= 885,000
[ 1,500,000
Jl 1,498,010
< 1,212,050
Al 22,087,109
E3EAl =4 18,617,373 30,613,391 211,996,018
) 1,498,010
= 251,550
Al 16,867,813
Za=gs N2 12,969,102 24,906,707 A11,937,605
Jl 1,498,010
< 251,550
Al 11,219,542
F3ttlz AIX 2435 86,080 8,400 77,680
202 04l 45,080 8,400 36,680
01 2LHoIH 10,080 8,400 1,680
O=3tti=gs K20y
840,000 * 12 10,080
03 =S R0 5,000 0 5,000
Og==4 oi2l0dt| 5,000,000& *14] 5,000
04 =Xl=to1bl 30,000 0 30,000
Oglesasa seles
30,000,000 *14{ 30,000
203 HR=H] 41,000 41,000
03 A=A R =AH] 41,000 41,000
OABZ=NHRFAY|
41,000,000 *14] 41,000
H=EME 29 8,284,440 9,820,000 21,535,560
306 EX= 5,972,168 9,820,000 A3,847,832
01 £g= 5,972,168 9,820,000 A3,847,832
o=zt 29 2,841,108,000& 14] 2,841,108
O2zE DRAH
1,926,060,000& x14] 1,926,060
O=2z=es N& 530,000,000 x 14 530,000
O=3E Set 2y gdat N2
190,000,000 *14] 190,000
OXlg =35ty 2td 128,000,000 * 14! 128,000
OooIsxd 43t A
150,000,000 *14] 150,000
OHF=23E EA 52,000,000& x 14 52,000
OB 2AHAER X (n=s2Hl)
120,000,000 * 14! 120,000




SN 28051
M BotAl =4
el Etoizgs N (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OFA4d M2z 24 N (ns3HI)
35,000,000 x14] 35,000
308 AHXIEMSOIE 1,961,272 0 1,961,272
11 S 2S0UeZB & HASAIE 1,961,272 0 1,961,272
OZStAIE HEALE 1,862,432
DXl 0l =2 849,766,000 x14] 849,766
DHAZHE 240,900,000 * 14 240,900
D222 Hel ddsAE
19,084,000& » 14 19,084
D422t 72,712,000 x14] 72,712
> EEEst s
679,970,000 x14] 679,970
Osdlesdssdt 29
98,840,000 » 14 98,840
403 AXIEHMSA=0ld 361,000 361,000
02 SISOt =2 H P E A I 351,000 351,000
OZStAIE AL 361,000
DXl 0l =2 294,000,000 *14] 294,000
DHAZHE 5,000,000 14 5,000
>SgEstusdE 52,000,000 *14] 52,000
M= X (HEAIY) 140,000 140,000 0
= 70,000
Al 70,000
308 AtAIEHMSOIE 140,000 0 140,000
== 70,000
Al 70,000
11 SI[2S0 e EAS A 140,000 0 140,000
Odzllz N 140,000,000 * 14! 140,000
< 70,000
Al 70,000
HEZIE 2 43t 9.720 16,200 26,480
= 4,860
Al 4,860
308 AtXIEMSOIE 9,720 0 9,720
= 4,860
Al 4,860
1 SISt AS A 9,720 0 9,720
Odgshle T28 24
9,720,000 *14] 9,720
[ 4,860
Al 4,860
LRME2SHHEH 2 55,000 55,000 0
307 elzto| & 55,000 55,000
05 21t =S 55,000 55,000




SN 28051
M BotAl =4
tel: Sti=gs X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OBSMERHEH 2
55,000,000& » 14 55,000
SY0ILINHE 23 573,667 613,667 40,000
201 er=23y| 2,500 2,500 0
01 AtR2t2|HI 2,500 2,500 0
OS&0ICIHEH S1EIIES
2,500,000 *14] 2,500
307 212+01& 571,167 611,167 240,000
05 2ItRIE = 571,167 571,167 0
OE&0ITINMH 2E
571,167,000 x14] 571,167
A=AE0ISZ HE(HEAY) 20,000 170,000 A150,000
401 A& HIX R0 20,000 170,000 /150,000
01 AlZH| 20,000 170,000 150,000
O3FAEi=2 A8 20,000
DEANY HEES
20,000,000 * 14! 20,000
AFAE0s2 28 E 22 3,500 3,500 0
201 Eer2 3| 3,500 3,500
01 At2t2lt] 3,500 3,500
O2FAlgllsd A2E
70,0002 x102+53] 3,500
opHlI=& 28 19,308 104,500 A\B5,192
201 er2 3| 19,308 67,000 ANA7,692
01 AtR2t2|HI 6,300 7,000 AT700
OuAEA 2322 4+
70,000 * 102 +02 6,300
2 S52g4l 13,008 20,000 26,992
OoNIIR3 80,000 * 122 960
Odotees 4,0003* 122 48
OOPHHIOISE A&7 Al2cl
12,000,000 * 14 12,000
N MRy A (HEAIY) 400,000 2,482,000 A2,082,000
401 AIEHIZ SR HYI 400,000 2,482,000 /2,082,000
01 Al&HI 400,000 2,179,000 A1,779,000
OMSA 22ty 28
400,000,000 * 14 400,000
HHZd OtEZe 29 50,920 0 50,920
101 @124H| 35,320 35,320
MU IIRIMZZENSES 35,320 35,320
OH1Z3 OtEZCl AIZEHI 35,320
>olEs 2,386,780« 1H* 122 28,642
> oXt=E 11,4202 «8AI 2H* 1~ 11 1,005
>=UASIELES 29,646,320 *4 . 5% 1,335




M 20l
ZM: 2HTA X4
tel: Sti=gs X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
DPALEEZ 29,646,320 *3.495% 1,037
PEINQRYEEE 1,036, 1392 %12.27% 128
PUEEES 29,646,320 *1.75% 519
DAHESE = 29,646,320 0. %% 267
>EXNS 2,386,780 x1H 2,387
201 Ler23| 15,600 15,600
01 At2teltl 6,000 6,000
Ott7=3 OtEZc2] JI=2=2gl
500,000 x 122 6,000
02 S3=gHl 9,600 0 9,600
Ott7=3 OtEZC] s32=
800,000& * 122 9,600
SE23H0I2HAY 2,180,420 1,592,400 588,020
Il 1,498,010
== 136,490
Al 545,920
301 22N = 2,180,420 1,592,400 588,020
Jl 1,498,010
= 136,490
Al 545,920
01 Al EE A S (FRNEXA) 2,180,420 1,592,400 588,020
OSEE0ISHAL
2,180,420,000& *14] 2,180,420
Jl 1,498,010
= 136,490
Al 545,920
Ol=Etdl X1 117,643 109,792 7,851
202 04| 7,200 5,520 1,680
01 =LHOLI 7,200 5,520 1,680
O=2=gsAd 28 o
600,000 * 122 7,200
307 elztol & 110,443 104,272 6.171
03 I HEE2SHIEx 110,443 104,272 6,171
O(AhEt=0==2stet AFNE 2
g 68,441,000 x14] 68,441
OAhHZH2NS 2=FA2 2
42,002,000& *14] 42,002
HdsHAZ 80,000 80,000
307 lztol & 80,000 80,000
04 QIZHHANAIS 2 X 80,000 80,000
Od=d=sHAY 80,000,000 *14] 80,000
ZEA=SH ZIHKE 11,000 11,000 0
307 elztol & 11,000 11,000
04 CIZHHAMALH 2 & 11,000 11,000
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S 230sD
MM 2HTAl XA
Celr A= 84 (CH9: &S1)
SN - B S(BH) - HBAY - BAS 0l &y G o HIDS2
SEEEE 70,0002 +524%35] 1,050
FSECE 70,0002 +524+35] 1,050
301 P 1,845,178 1,776,548 68,630
2= - 2SESEA2 1,845,178 1,776,548 68,630
ONggrzc 24 1,698,672
> 20l (Acd) 1,173,521
OAXIZI X} 5,000, 00021+ 1% x 122! 60,000
OHRE(72 2258 2)
3,551,900 x1H+12& 42,623
OFMHEINTS 1152)
2,327,680 x1Z = 12& 27,933
OBIZEINTZE 78 E)
2,014,800 *x1H~12& 24,178
OCH (82 25 E)
2,654,080 x 15+ 12& 31,849
OCHa (82 205 )
2,570,800 x7Z = 12& 215,948
0Tt (82 1952)
2,526, 24024 x62 » 122 181,890
OcH (82 185)
2,479,502 x84« 122! 238,034
Ot (82 1652)
2,380,720 x3Z * 12& 85,706
0Tt (82 155)
2,326,960 x2H + 12& 55,848
OCHR(82 1452)
2,271,280 x 18+ 12& 27,256
0cHa(82 135%)
2,213,360 x3Z * 12& 79,681
0CHR(82 125%)
2,152, 720 x 18~ 12& 25,833
OCHAI(82 1132 A2C)
2,492,000 x 15+ 12& 29,904
oTHa(82 1158)
2,089,600 x1Z = 12& 25,076
0CHa(82 752)
1,813,920& 19+ 12& 21,768
D OlSag(AUce) 49,200
OCIRE, £MBIET}, 24 CH
150,000 x5 *12& 10,800
OYBtChRl U BEET}, otPEHR
100,000 x32Y = 128 38,400
> X2 CH AU CHRI) 49,200
OTHRH, &MEIZET}, aMChel
150,000 x5 *12& 10,800
oYEtchel U BEEX}, otPEHR
100,000& 32+ 12& 38,400
=4 e (A 26,400




EA: 230=
M 2T Al 24
Selr A=Yy 84 (S &S
S B SR (BI) - HISAY - BAS Ofl by G o MimE=EY
OCIRE, 2MUIER, +ACH
100, 0002562+ 128 7,200
OUVEHR QU BIE}, orBEHR
50,00024%30% * 122 19,200
> DS 55,080
OLIDE, SAHBET, BEN
130, 00021532+ 128 4,680
OYurch, ofPckl, Ak
120,000 x35 128 50,400
D BHSEH(AAUSRA) 38,350
[OINEDN 70,0003 x 1= x53] 350
OCIRF, BIEN U CiEl, AR
50,000& *38H *203| 38,000
D> HESIIH| (AU SH)
55,676,000 *23| 111,352
PEESG 28E 155,563
CEHIELE
1,404,752,080& *4. 5% 63,214
OHLUBEE 1,404,752 ,080& *3.495% 49,097
O&INQLABEZ 49,096,080&%12.27% 6,025
[OJE=3k=- 1,404,752,0802x1.75% 24,584
OMEE S 1,404,752,0802 0. %% 12,643
>ERZ 40,000,000 * 14! 40,000
OAIE&E 23| 146,506
> ARAIER 46,400
CEEWEEIGED
5,000,000& *1H*23| 10,000
OEHZ (H ) 2,000,000 1 %83 16,000
O Q2 (HlI2¥) 1,500, 000& x1H *x23] 3,000
OF2 U IR B
1,500,000& *1H *x23] 3,000
O HATHSA (H|2F) 300, 0002 6 H 83| 14,400
>EAH EEZ NE 10,000,000& * 1A 10,000
DEIIZAE 222 N&E
600,000 * 14! 600
>3 8,00021 %50 +83] 3,200
>2HE20)(22)
73,2802 x 122 %83| 7,035
D>ROU3H A= 300,000 %53 1,500
D>AFRA 29| 600,000 128 7,200
>E=&0H| 50,0003 x3H 122 1,800
DEANRE 100,000 x 12& 1,200
DEEZE RER2 100,000& x 128 1,200
DgtE 24| Q7 +8A| 272 523
D>oted 1l 10,000,000& *1A 10,000




SN 2502
MY 2TAl E4
Selr A=Yy 84 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
>otE=Ab 2 RI=H| 300,00084+83] 2,400
DA 50,0002 83| 400
>oiFEE gl 1,400,0008 10 14,000
>oiF= N 8,0008+30 x43] 1,248
>Oot: =8 200,00024x2CH*83] 3,200
>ARE D¢ 300,00084 43| 1,200
> AFRD(D] el 50,0002 12 600
DR2REHI (A, 2 =3t )
3,000,0002 14! 3,000
>oIREo2 20,000,00024 14! 20,000
DolREs Y Uxe
500,0002 %23 1,000
DA AYEET o5/
300,000 %13 300
DERSHUME 23
2,500,00084%13] 2,500
> AR 200,0002 *524 %33 3,000
>etel Y9 3,000,00094% 14! 3,000
N maretct 29 2,966,987 2,855,712 111,275
201 Y2 H| 2,030 2,030 0
01 Al 2+l 2,030 2,030 0
ODEAICRARS| Ealtg 2,030
>2de 70,0002 x7 %23 980
DA 70,0002 x5 %33 1,050
301 YEHZHS 2,964,957 2,853,682 111,275
R0z - 2SRSENE 2,964,957 2,853,682 111,275
OAlgmstotct 24 2,638,084
> S0 (A ATH) 1,835,224
O& X Xt 4,500,0002 %12 * 128 54,000
OH2E (62 185L)
3,680,000 * 1% * 1228 44,160
o (72 27188)
3,137,0008 2%~ 128 75,288
ot (72 2653)
3,104,0002 <2+ 1228 74,49
oLt (72 55 L)
3,065,000 * 1%+ 1228 36,780
OHRA(73 245 E)
3,025,0008 2%« 1228 72,600
OHA(72 B3 S)
2,985,002 5%« 122 179,100
oLt (72 25 E)
2,941,000 1%~ 12" 35,29
OHR(73 215E)
2,895,0002 5%« 1228 173,700




M 23t0il=1
M 25CAl XA
Celr A= 84
2 = SIE]
S - BE - BI(3) - NRAY - BAS il v e
OHA (72 208 3)
2,848,0002 +3~ 123 102,528
OH(73 1838)
2,745,000 5~ 123 164,700
OHA(7T2 1738)
2,690,000& 4« 128 129,120
OHA(72 1653)
2,633,0002 +3* 123 94,788
OHA (72 153 8)
2,568,000 +3~ 123 92,448
OHa(738 1453)
2,505,000 6128 180,360
OCIR(72 1352, otEHa)
2,952,3002 18~ 123 35,428
OH(73 1358)
2,435,000 +3~ 123 87,660
O (7=2 1288)
2,366,000 12« 12& 28,392
oOHA(72 11538)
2,291,000 18~ 123 27,492
O (73 1058)
2,212,000 1~ 123 26,544
O (73 958)
2,129,000& 2%« 128 51,096
oLR(73 752)
1,954,000 «2H * 123 46,8%6
OER(72 658)
1,863,000& «1H+ 122 22,3%
D ols=E(&4UR) 81,600
OIS, Suctsl
200,000 13"~ 122 31,200
oYBichl, otRCl, ol
100,000 »42H + 122 50,400
> A ML (AeEr) 82,800
OHRE, =4tA
200,000 13"~ 122 31,200
osigial, otFcEl, o
100,000 »42H + 122 50,400
O EHY 100,000 x1H* 122 1,200
D> =el=E(4UHR) 40,800
OIS, Suctsl
100,000& x13HE* 123 15,600
oYL, otBokA | otk
50,0003 42« 122 25,200
D LSHI (&)
130,000& 55« 122 85,800
D3 (M4YH) 27,850
OXIZ| Xt 70,0002 *1H+53] 320




M 20l
ZM: 2HTA E4
Selr A=Yy 84 (Ete &
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oaea 50,0002 x55H 102 27,500
> HEEIH (A SR)
89,061, 180& »23] 178,123
PEES 28E 255,887
SELISERTE
2,310,705,960& *4. 5% 103,982
(OFar=i-t= Y= 2,310,705,960& *3.495% 80,760
ORISR 80,759, 170&*12.27% 9,910
oLE=EE= 2,310,705,960 *1.75% 40,438
O4tEE=E 2,310,705,960& +0. 9% 20,797
>EXNS 50,000,000& * 14| 50,000
OAgugettt 234l 326,873
DRAATZ 154,400
OUANFE(0I1E)
3,000,000 x1E 32 9,000
OURTFE(FIN)
5,000, 0003 *1H+32] 15,000
OEHZ () 4,000,0002 1+ 163 64,000
o2& X=X+ My
400,000 x1E 62 2,400
OHAHE 400,000& *10 x 162 64,000
>IOIES M 10,000,000& » 14 10,000
>oizs 222 M
1,500,000& * 162! 24,000
>PHIIBE B2= MA
600,000& *14] 600
D> o3 a4 8,0002+80& * 162 10,240
DS ER0/(2Y)
73,2803 10+ 163 1,725
DRUEAH ASHI 300,000 *43] 1,200
D>AISA 23| 200,000 * 122 2,400
>EH0H 50,0002 x3& 123 1,800
>Sies 200,000& 12 2,400
PEEE RER= 100,000 ~12& 1,200
>orE FY 700,000& * 162 11,200
DESAL R M2 400,0002! * 162] 6,400
> =4 300,000 %53 1,500
PPNESTaL= 500,000 42| 2,000
>otll «=cl & 22l
7,500,000 * 14 7,500
>l THod 2,000,000& 22 4,000
PoFEs 2 1,400,000 10 14,000
PARE 2 350,000 42 1,400
DAZREHI(ALR, H==35 )
700,000 <22 1,400




SN S3H0IED
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